www.Padasalai.Net www.Trb Tnpsc.Com

~

(/tf \/nf»':’ !! h: H

“.‘l', e s 1Y ?.v,,‘u_"‘
M / \_ {
l'

F

ReglsterNumber T O [ o %f"

QUARTERLY EXAMINATION 2024

e s e Mk o) S
S0 7 S0 MATHEMATICS ' o e sorima

e : PART - T : :
Answer all the questions ; 14X1 14
1. Let n(A)=m and n(B)=n then the total number of non empty relations that can be
 defined from A to B is a) m’ b) n” o)™k e id) 2w
- 2. flo)+f(1-x)=2 then f(1/2)=........ a)1 b) -1 5 D9
3. The least number that is derisible by all the numbers from 1 to 10 (both reclusive ) is
242+.. 2) 2025 b) 5220 c) 5025  d)2520
4. Find the sum of n terms of the series is 2+2+2+,....... tonterms.
2) 2" b) 2n ¢) n’ d) n+2
5. If (x-6) is the HCF of pair of polymomials x*-2x-24 and x’-k-6 then find the value ofk
a)3 b) 5 c)6 d)8§ |
6. The solution of (2x-1)*-9 is equal to ) -1, 2 b) 2 c)-1,2 d) One of these
N S (Mod 100) a) 4 b) 3 ¢)2 d) 1
8. If in triangle ABC and EDF A—i :%C; then they will be similar when
a) ZB=LE b) sa4=s«D C) £ZB=4D d) £4=LE
9. When proving that a quadrilateral is a trapezillm, it is necessary to show
a) Two sides are parallel b) Two parallel and two non parallel
¢) opposite sides are parallel d) all sides are of equal length
10. If AA4BC is an isosceles triangles with Zc=90"and AC= 5 cm then AB is
a) 542 cm b) 10 cm ¢)2.5cm d) 5 cm
11. Find the slope of the equation is 2y= x+§
a) Y2 b) 1 c)8 d)y2-

12. The straight line given by the equation x=11 is

a) passing through the orgin point b) passing through the point (0,11)

c) parallel to the x axis d) parallel to the y axis
13.1f sin@=cosf when 2tan’@+sin@=1isequalto a) 3 b) -3/ ¢) 2 d) "%
14.1f sin@ + cos@ = a and secf + cosecd = b then the value of b(a’-1) is equal to

a) 0 b) 2a + ¢)2ab d) 3a
PART - 1I
Answer any 10 questions. Question No. 28 is compulsory 10x2=20

15. AxB={(3,2) (3, 4) (5,2) (5,4)}, then find A and B
16. Show that the function :N=> N defined by f{m)=m’+m+3 is one — one function.

i ntif ;n isodd
17. Find the 3™ term and 4™ term of a sequence if , a" =

‘ _”3 fmin‘F”L
'18. Find the sum of the series. 1+4+9+16+...... +2225
o x* -16
19. simplify : TS
20. Find the LCM of the exprcsslons are (p -3pt2), ( p’-4)

4
21. If the difference between a number and its reciprocal is —, find the numbers.

L

22, The length of the tangent to a circle from a point p, which is 25cm away from the centre
" is 24 ¢m. what is the radiuses of the circle.
03°In AABC ,if DE || BC AD=x,DB=x AE=x+2 then find the length of the sides

AB and AC
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- 24, Find the value of ‘a’ if the line through (-2, 3) and (8, 15} is perpendicular toy=ax+2 ,

25, Find the slope of a line joining the points are (14, 10) and (14,-6) ... = " .©
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(<729, Prove that Sécg g = AT

Mg i Lyl 4 Sin@ cosd ; . R - R S

J 1_.L8}f(r)f3x~4, g(x)=2x+k and if fog=gof then find the value.of & it - “wisg o ok pall s o
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- Answer any 10 questions, question No. 42 is compulsory. P R T 0=,
20. A function fis defined by ffx) = 2x-3 i) Find vfﬂ;—f—@_-:ii) Fi_ﬂdeUéh. that f(x)=0 . e

i) Find x such that f{x)=x iv) find x such-tﬁat Jx)=f(1-x) ’

30, If fx)=2x+3,g(x)=1-2x and h(x)=3x prove that fo(goh)=(fog)oh L% :
31.  Tind the sum 1% all natural npmber betl\)veen 100 gndil 000 which are divisible by 11 -
32 Find the sum of series is 10" +/1° 12 20
33.  Find the GCD of the polynomials 43y 3,and X+al-3x+3 j
34.  Find the square root of the expression 289x7-612x° +970x°-684x+361- g,
35, If vertices of a quadrilateral are at A (-4, -2), B(-3,k) (3. -2) and D(2,3) and its area 1s
28 sq.units. Find the value of k. ' : . o
36.  Find the equation of the perpendicular bisector of the line joining the points
_ A(-4, 2) and B(6,-4).
37:  State and prove Thales theorem. e L
38. Aninsect 8 m awaﬁinitially from the foot of a lamp post which is 6m tall, crawls
towards it moving through a distance, from the top to the lamp P post i equal to the
distance it has moved. How far is the insect away from the foot of the lamp post? !
B! provetha. o Lhe0sE \[ L sord
, . ~Vi-cos@® Vl+cos@ ) . .
40. A straight line AB cats the co - ordinate axes at A and B. It the mid — pont of AB-1s
(2,-3) t%nd the equation of AB.
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(417 Let f A B be a function defined by f(x)= ¥} -1 where A={2,4,6,10,12}, -
B={0,1,2,4,5,9} represented { by

i) set of ordered pajrs iit) a table iii) an arrow diagram h‘ iv) a graph
42/ The ratio of 6" and 8" term of an A.P is 7: 9 find the ratio of 9" term to 13" term
‘ PART -1V
Answer the following 2x8=16

43. a) construct a triangle to a given triangle ABC with its sides equal to &/ of the
corresponding sides of the triangle ABC (scale factor %) (OR) > ;

b) Construct a triangle PQR such that OR=3 | P=30" and the altitude from p to QR
is of length 4:2 cm. .

44. a) Graph the quadratic equation x"”-&rﬂﬁﬂ() and state the nature of their solution. (OR)
b) A school anmroces that for a certain competitions, the cash price will be distributed

for all the participants equally as show below.

No of participants (x) o P 4 |6 I8 |10
Amount for each participants in(y) | (v) | 180 {90 {60 145 |36

i) Find the cantent of variation
ii): graph the above data and hence, find how much will each participant get. If the
number of participants are 12.
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